
28-11-2003WWW.ZODIAC.NL

PERFORMANCE PRODUCTS FOR HARLEY-DAVIDSON®

"SUPER-AASS" SSWINGARM KKIT 
FOR 11991 TTHRU 11999
EVOLUTION SSOFTAILS

Complete ""Super-AAss" kkit
236443 Complete kit, fits 1991 thru 1999

23

23

Do not use

Do not use



Kit can also be used for late 1987 thru 1990 models
when D and E are ordered separately

Pos. Part no Description Qty
1 236432 Rear axle SuperAss w/washer & 1
2 236490 Off-set Transmission plate 1
3 236498 Inner spacer ring 25mm 1
- 236687 Super-Ass swingarm Zodiac & 1
- 238763 Stainless swingarm plate 1
7 346210 25mm Extended shaft extension 1
8 346214 25mm Extended crankshaft nut # 1
9 700011 O-ring chain housing 1
10 700365 Gasket set 1987 thru 1999 models 1
11 940050 Inner primary lock tab 6
12 Spring Washer 3/8" 1
13 Washer 3/8" 2
14 Bolt 5/16UNCx1-3/4" (for OEM frames) 2
14 Bolt 5/16UNCx2-1/4" (for Zodiac Widetail frames) 2
15 Hex head bolt UNF 3/8x1 zinc 1
16 UNF nut 3/8 zinc plated 1
17 Allen Bolt 5/16UNC x2-1/4" 2
18 Ring Flat 5/16"x 5/8" 4
19 Spring Washer 5/16" 4
20 Allen Bolt 5/16UNC x2-1/2" 2
21 Transmission spacer (2 for OEM, 4 for Widetail) 4
22 Transmission support plate 1
23 S000037 Washer 2
A Drill 3/4" hole
B 735006 Wheel spacer 1/2" NOT included

735007 Wheel spacer 3/4" NOT included
735008 Wheel spacer 1" NOT included
735009 Wheel spacer 1 3/4" NOT included

C 236495 Sprocket support with integrated bearing NOT included
D 346212 Crankshaft nut for 1984 thru 1990 models NOT included
E 700362 Gasket kit for 1984 thru 1986 NOT included

Note: Spacers for pulley, brake and axle are not included. 

28-11-2003WWW.ZODIAC.NL

PERFORMANCE PRODUCTS FOR HARLEY-DAVIDSON®


